
OPERATING INSTRUCTIONS FOR

ADF 210 POWER SUPPLY AND BATTERY SUPPLY

The ADF power supp ly i s des igned to opera te an O.A .R.

Automatic Direction Finder from aII5V AC line* and, In the

even t o f apower f a i l u re , t o sw i t ch ove r au toma t i ca l l y t o

T h e I s a t t e r y I s c o n t a i n e d w i t h i n t h e p o w e r

sunply unit and Is a12V Nl-cad with a4amp-hour rating.
The power supply, when connected to aII5V AC outlet

a c c o m p l i s h e s t h e f o l l o w i n g !

Suppl ies 12V DC @1.5 amp to the ADF

b a t t e r y o p e r a t i o n .

1 .

2 . C h a r g e s t h e s e l f - c o n t a i n e d b a t t e r y . I f t h e
b a t t e r y I s I n p a r t i a l l y d i s c h a r g e d s t a t e . I t
wi l l be recharged at amaximum of approximately
400ma, I f the bat tery Is fu l ly charged. I t wi l l
be maintained at ful l charge by reduced charge
r a t e .

The power supnly Is "ON" whenever the line cord Is plugged
I n t o a 1 1 5 V A C o u t l e t . The battery Is thus charged and main¬

ta ined a t fu l l charve under these cond i t i ons .

In normal use, the power suoply can be left plugged
the 115V AC outlet to maintain the battery at full charge.
Whenever the ADF Is turned on. It will get Its power from the
p o w e r s u p p l y .

I n t o

The battery will remain at full charge,
only time the battery supplies power is with the ADF "ON" and

T h e

the power supply either disconnected from the II5V AC line
i n t h e e v e n t o f a p o w e r f a i l u r e .

o r

1 1 -



BLANKING CONTROL

ADDENDUM OPERATING INSTRUCTIONS

The adjustment described on page 4under Rear Panel Control has been
moved to the front panel on later model ADF-210's. Access to it is gained
by removing the black plastic screw immediately to the right of the BFO
switch under the speaker. Asmall screw driver is used to adjust the
potentiometer. The instructions on page 4still pertain with one exception:
The range of the front panel control is approximately twice the rear panel
control. It is therefore possible to have the blanking 180® off, giving a
directional indication opposite to what is correct. Be sure it is set
c o r r e c t l y .

BEAT FREQUENCY OSCILLATOR CIRCUIT

A D D E N D U M O P E R A T I N G I N S T R U C T I O N S

Later model ADF-210's incorporate as standard equipment abeat frequency
oscillator (BFO) to help in identifying signals which consist of an RF carrier
on ly, w i thout aud io modula t ion . The BFO swi tch is located a t the f ron t pane l

below the speaker.

Signal sources consisting of only RF carrier will be inaudible or will
appear as ailight rushing or hissing sound in the receiver. By switching
on the BFO, the signal will appear as asteady tone; or if the carrier of the
transmitter is pulsed, it wil l be heard as abeep -beep -beep. Very strong
RF signals may appear as arushing or hissing sound even though the BFO
is on. This is normal and even though there is no tone as such, the signal

can readi ly be dist inguished f rom other noise on the channel .
The BFO affects only the audio portion of the ADF-210 and has no effect

on t he v i sua l d i sp l ay.

1 2



ANTENNA CABLE INSTALLATION
AND WEATHER-PROOFING INSTRUCTIONS

A. GENERAL INFORMATION

The ADF-210 Antenna System is connected to the Receiver/Indicator Unit
by 3coaxial cables of up to 200' in length, depending on the particular in¬
stallation. Within the cable system itself are 5BNC type connections which
are normally exposed to the elements. Two of these connections are located
at the loop antenna where the cables attach to the loop assembly. Three
pairs of mating connectors are located at the base of the mast where the long
cables going from the Indicator Unit are hooked up with the short cables
i n s t a l l e d i n s i d e t h e a n t e n n a m a s t .

IT IS IMPERATIVE THAT THESE POINTS BE WEATHER-PROOFED TO INSURE PROPER
OPERATION OF THE SYSTEM.

B. WEATHER-PROOFING PROCEDURE

O.A.R. supplies sufficient "Aqua Seal" to weather-proof atypical
installation. (See accompanying sketches for clarification of instructions.)

1. Loop Antenna Connect ions:

To seal the connectors at the loop antenna, begin by assembling
the loop, mounting plate, and Delrin mast mount as outlined in the
inst ruct ion manual . At tach one end of cables to loop antenna
(use 2short 22* cables, red to red, brown to brown). Slip guy
ring over unconnected ends of both cables, then feed these cable
ends down through top portion of antenna mast and out through the
opening in the base. Cut apiece of Aqua Seal about 1-1/2" long by
3/8" wide and lay it in bottom of slot in shaft on black Delrin
mast mount. Bend cables from loop antenna and lay them in slot,
side by side. Cut another piece of Aqua Seal 1-1/2" x3/8" and lay
on top of cables in slot. Press the Aqua Seal and cables down
firmly in the slot. Slide the slotted shaft of the mast mount (and
attached cables) into top portion of mast. Leave gap of about 1/4"
between shoulder of mast mount shaft and top edge of mast. Take
asmall string of Aqua Seal and Wrap once around bottom of mast
mount shaft between shoulder and mast. Sl ide mast mount shaft rest
of way into antenna mast. Secure with 6-32 x3/8" flat head screw.
Cut two pieces of Aqua Seal about 1-1/2" x2-1/2". Wrap each
connector securely and completely. See sketch. Add Aqua Seal
around cables where they enter top of mast to prevent water from
entering mast. Starting about 1" below 6-32 x3/8" screw, wrap
electrical tape around mast, stopping where cables enter mast.
Overlap tape approximately 1/4" on each wrap.

_ 1 3 _



2 . A n t e n n a B a s e C o n n e c t i o n s :

To seal the connectors at the base of the antenna, start by
cutting three pieces of Aqua Seal approximately 6" long. Wrap each
pair of mating connectors so that the Aqua Seal extends approximately
2" either side of the connectors. Be sure before beginning that the
cables and connectors are c lean and f ree of o i l , water, or other
substances which might prevent the Aqua Seal from adhering to the
cables and allow water to seep inside to the connectors. Press the
Aqua Seal firmly on to the cables. After applying Aqua Seal, wrap
each cable with electrical tape (Scotch 33 or equivalent). Start
about 1or 2inches below the Aqua Seal and work towards top,
overlapping tape approximately 1/4". This will prevent the cables
from sticking to each other.

1 4



L O O P A N T E N N A

B

I -AQUA SEALI

777- ,
T O I N D I C A T O R

WRAP “aqua sea l "
UNIT

c A R O U N D C A B L E .
L O O P A N T E N N A

. / - W V

GENERAL

APPEARANCE
AFTER SEALING
WITH “AQUA
SEAL"

A Q U A
W R A P W I T H E L E C T R I C A L

TA P E .

T O A N T E N N A

PRESS “AQUA
SEAL" TIGHTLY \£y
TO CABLE TO \
PROVIDE COMPLETeX
WEATHER PROTECTION'

GENERAL APPEARANCE
AFTER WRAPPING CONNECTORS
WITH “AQUA SEAL"

WRAP WITH ELECTRICAL
tape TO PREVENT CABLES
FROM STICKING TO EACH
O T H E R

■ELECTRICAL TAPE



c
/ :
( r 5

2 . S E C U R E L O O P A S S Y. \

TO M O U N T I N G P L AT E

A F T E R FA S T E N I N G P L AT E

T O M A S T M O U N T.

LOOP ASSY.

AGFA 266
(4) 8-32 XV/' PAN HU. SS SCREW

LOCK WASHERS, tNUTS.
A

I

1 . S E C U R E M O U N T I N G P L AT E TO v.

MAST MOUNTING USING (2)

10-32 x®/{ FLAT HEAD SCREWS.
MOUNTING PLATE

A G FA 2 6 6 - 0 0 8

M A S T M O U N T
A G FA 2 6 6 - 0 0 9

N O T E ;

LOOP ASSY. ,MTG. PLATE MAST
MOUNT ARE NORMALLY SHIPPED
A L R E A D Y A S S E M B L E D

3TUSE 6-32 XVj FLAT HEAD
S C R E W T O S E C U R E M A S T

. M O U N T T O M A S T.

T O P O F M A S T

L_4D


